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QUESTION 1

Click the Exhibit button.

le7.10.3.128/25 112.134.2.19 140 L
1€7.10.4.0/25 112,134.1.19 130 L
1¢7.10.2.128/25 112.134.2.14 130 I

You created a policy to reject all incoming routes from peer 2.2.2.2. You notice that despite applying the
policy, you are still receiving routes from this peer.

Referring to the exhibit, why are you still receiving the routes?

A. The policy should have a form statement.

B. You can only block active prefixes.

C. The policy should be an import policy.

D. You cannot block incoming IBGP routes.

Correct Answer: C

QUESTION 2

You are adding a new EX4300 member switch to your existing EX4300 Virtual Chassis. However, the new
member is not running the same Junos version as the other members.

By default, what is the expected behavior?

A. The new switch is not recognized by the Virtual Chassis.

B. The Virtual Chassis will transition into a split brain situation between the existing master Routing Engine and the
switch running the different version.

C. The new switch will be assigned a member ID and then placed in an inactive state.

D. The new switch will automatically pull the correct version from the master Routing Engine and perform the necessary
upgrade.

Correct Answer: D

QUESTION 3

What are three types of port designation specific to Private VLANs? (Choose three.)
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A. Promiscuous ports
B. Transparent ports
C. PVLAN trunk ports
D. Designated ports
E. Isolated ports

Correct Answer: ACE

QUESTION 4

Click the Exhibit button. In the exhibit, each IP subnet in the campus environment is associated with a unique VLAN ID.
Which action will ensure that Host C will communicate with Host A and Host B?
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A. Configure an IRB interface for each VLAN and associate it with its corresponding VLAN.

B. Configure all switch ports connecting to the host devices as trunk ports associated with all VLANS.

C. Configure a port-based ACL that permits inter-VLAN routing for all configured VLANS.

D. Configure all switch ports connecting to the host devices as access ports associated with a common VLAN.

Correct Answer: A

Configuring Routing Between VLANs on One Switch to segment traffic on a LAN into separate broadcast domains, you
create separate virtual LANs (VLANS). Of course, you also you want to allow these employees to communicate with
people and resources in other VLANs. To forward packets between VLANs you normally you need a router that
connects the VLANs. However, you can accomplish this on a Juniper Networks switch without using a router by

configuring an integrated routing and bridging (IRB) interface (also known as a routed VLAN interface-- or RVI-- in
versions of Junos OS that do not support Enhanced Layer 2 Software).

QUESTION 5
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Click to the exhibit button. Referring to the exhibit, which configuration change is needed for an IS-IS Level 1 adjacency
between R1 and R2?

user@RZ2# top show protoceols isis
interface ge-0/0/1.0;

interface 1a0.90;

A. Configure the 100 family ISO address 49.0002.0010.0042.0002.00 on R1.

B. Disable Level 2 on R2\\'sge-0/0/1 interface.
C. Configure the 100 family ISO address 49.0002.0010.0042.0002.00 on R2.
D. Enable Level 2 on R1\\'s ge-0/0/1 interface.

Correct Answer: C

Level 1 adjacencies can be formed between routers that share a common area number. We need to change 1SO
addresses so that both routers have the same area number. If we change the ISO address on R2
49.0002.0010.0042.0002.00, both routers will have 0002 as area number. Note: Level 2 adjacency can be formed
between routers that might or might not share an area number. Reference:
http://www.juniper.net/techpubs/en_US/junos16.1/topics/example/isis-multi-level.html
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